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Question Number : 1 Question Id : 7773934315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

MCVH, RVCC, WCVX, BVCS, ?
Options :

1. ¥ GVCN

2. % WCVX

3. ¥ GCVN

4. % WVCX

Question Number : 1 Question Id : 7773934315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fu U fased 7 O VR 31eR TYg &1 994 &y, o Fuferiaa 9ot & usifg (2) & ®IM O 3@ 51 9 g

MCVH, RVCC, WCVX, BVCS, ?
Options :

1. ¥ GVCN

2. % WCVX

3. ¥ GCVN

4, % WVCX

Question Number : 2 Question Id : 7773934316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the letter-cluster that does NOT belong to the following series.

HWLR, CZEX, XCWD, SFQJ, NIJP, ILCV
Options :

1. % SFQJ

2. ¥ XCWD

3. % NIJP

4. % ILCV

Question Number : 2 Question Id : 7773934316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 3R THE P UgaH & o fafafad Joft § Jeifta 78t 31

HWLR, CZEX, XCWD, SFQJ, NIJP, ILCV
Options :

1. % SFQJ

2. ¥ XCWD

3. ¥ NIJP




4. # ILCV

Question Number : 3 Question Id : 7773934317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :

1. # Cackle

2. % Yelp

3. ¥ Pony

4. # Growl

Question Number : 3 Question Id : 7773934317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Weg feu MU B, s ¥ < fareft 7 foreft v @ 9 § iR v i 81 3 e Xreg 1 o o} |
Options :

L% pepol

2. % TS i

3. ¢ BleTglel

4, % IRVT

Question Number : 4 Question Id : 7773934318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

BLAST : ABLST :: MOULD : ?
Options :

1. ¥ DLMOU

2. % UOMLD

3. ¥ DLOMU



4. % DOLUM

Question Number : 4 Question Id : 7773934318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 T B ST die Ug I 31 dal UaY g, off HaY GO UG &1 Ugd UG 4 5|

BLAST : ABLST :: MOULD : ?
Options :

1. ¥ DLMOU

2. % UOMLD

3. ¥ DLOMU

4. ¥ DOLUM

Question Number : 5 Question Id : 7773934319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :

1. # Amiable

2. % Surly

3. #® Polite

4. ¥ Cordial

Question Number : 5 Question Id : 7773934319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR TG feU MU §, ForH ¥ < fareht = foreft v @ 9 § iR v e & 1 39 e X1eg 1 oo o} |
Options :

1. % Iy

2.9 3ol

3. % fog



4. % AR

Question Number : 6 Question Id : 7773934320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MAGIC’ is written as ‘ACIGM’. How will ‘CUBOID’ be written in that language?
Options :

1. ®* UIOCBD

2. # BCUDIO

3. ¥ BCDIOU

4. % UOIBCD

Question Number : 6 Question Id : 7773934320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3d HIg YN H, ‘MAGIC® BT ‘ACIGM® & U F foraT SITdT 8 | I U § *CUBOID’ &1 o feraT SITE?
Options :

1. % UIOCBD

2. % BCUDIO

3. ¥ BCDIOU

4. % UOIBCD

Question Number : 7 Question Id : 7773934321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘GROUP’ is coded as ‘116°.How will ‘LOGIC’ be coded in that language?
Options :

1. % 179

2.9 178

3. % 187

4, % 197



Question Number : 7 Question Id : 7773934321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt DS U H, ‘GROUP” BT 116° & ¥U H HIfSd [oa1 SITdT 8 | I DI U H ‘LOGIC’ BT Bl Hifed [ohaT ST
Options :

1. % 179

2.% 178

3. % 187

4. % 197

Question Number : 8 Question Id : 7773934322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aloksinha is the son of Ompraksh’s father’s sister. Dilshan is the son of Mayuri, who is the mother of Murali and grandmother of Ompraksh.
Kishore is the father of Soumya and grandfather of Aloksinha. Mayuri is the wife of Kishore. Ompraksh is the nephew of Soumya, who is
the only daughter of her parents.

How is Ompraksh related to Kishore?

Options :

1. * Son

2. % Nephew
3. % Father

4. ¥ Grandson

Question Number : 8 Question Id : 7773934322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHTAHIIGT, SNHTHTRT & fUdl BT 98- BT I ¢ | Sa=IH TG &1 YA ©, S GRelt &1 AT 3R STAUSRI &1 &l ¢ | fH=iR ar & fUdr o
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Options :
1. % UgF
2. % Yol / Hlle




3. % fUar
4.« AT/ YT

Question Number : 9 Question Id : 7773934323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(i) Alok, Bidan, Chaitu, Divija, Emiya, Falgun and Giri are sitting around a circle, facing the centre.
(11) Girt 1s second to the left of Chaitu, who is to the immediate left of Falgun.

(iii) Alok is third to the left of Emiya.

(iv) Bidan is between Divija and Emiya.

Which of the following statements is FALSE?
Options :

1. # Alok is fourth to the right of Emiya.

2. # Giri is to the immediate right of Divija.
3. ¥ Falgun is third to the right of Divija.

4. % Bidan is to the immediate left of Divija.

Question Number : 9 Question Id : 7773934323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

()3T, e, =, fafasn, Sfar, Bre ofR R foreht 90 & aRT 8fR 5 BT 3R T@ Hb 93 |
(ii)ﬁﬁ%@%@ﬁ@@ﬂ?@ﬁﬁ%ﬁtﬁ@%%&ﬁg
(iii)3MTelIp, ST & 914V R R R B

(iv)faem fefash ok gt & Fi= 31

fraffad PH-a1 BuT Tad 82

Options :

1. % 3ToIp, SN F TN Y NI R §
2. % M fefa s Sw e g

3. ¢ e, R i A TR A RR
4. % gy, fefasn & St a1d |



Question Number : 10 Question Id : 7773934324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:
No tree is a canal.
No sword is a tree.

Conclusions:
I. No canal is a sword.
II. All swords are canals.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follow

4. % Neither conclusion I nor II follows

Question Number : 10 Question Id : 7773934324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T HYHT SR Fehul & e Y UG | AF o [ By H <1 718 a1 9 7, U &1 g8 IHHad: I1d a4 fF Udid g1t 811 emu ag
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Options :
1. % $Had FT5HY [ 3FIERU Sl §
2. % Had [SHY 11 IR0 Hl &




3. % FAH 1 3R 11 €1 EH SRR Hd §
4.« A Fmd 17 8 11 SR el §

Question Number : 11 Question Id : 7773934325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

All tubes are clouds.
No cloud is a soap.
No board is a soap.

Conclusions:
I. No tube is a bottle.
II. All boards being clouds is a possibility.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follow

4. % Either conclusion I or II follows

Question Number : 11 Question Id : 7773934325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. 35 1} oYd diad a1 o

I1. 916 Bid g4 I Sisf &t UG 5|
Options :

1. % $Had FT5HY [ 3FIERU Sl §

2. ¥ HAd [SHY 11 SR Hdl &

3. % G fAShY 1 3R 11 3IERUI $H1d §
4. % Ul fApy 197 11 SFRRUT Rl §

Question Number : 12 Question Id : 7773934326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged in the following equation to make it correct?

182+14 x5—-100+156=9
Options :

1. % xand -

2. % +and+

3. % +and-

4. % xand +

Question Number : 12 Question Id : 7773934326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad THieRu &1 T8l 37 & oIl HH-3 T g IRER ded 9 31w

182 +14x5—-100+156=9
Options :

1. % x 3R-
2. % + 3R+
3.9 + 3R~
4. % x 3R+




Question Number : 13 Question Id : 7773934327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

4,7,16,41,94, 251, 7
Options :
1. * 468
2. ¥ 568
3. % 486
4. % 586

Question Number : 13 Question Id : 7773934327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw e fyeweat & § Ut e &1 guH &3 o Fufafaa 9oft 7 usfg (2) & ®IM R Rar S 9w gl

4,7, 16,41, 94, 251,?
Options :
1. % 468
2. % 568
3. % 486
4. % 586

Question Number : 14 Question Id : 7773934328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the Venn diagram that best illustrates the relationship between the following classes.

Uncles, Brothers, Male
Options :



SRCACRE

Question Number : 14 Question Id : 7773934328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U I 3R BT TG B ol FHfiad avif & ol & Jay B Faraq 71 3 ueiRid sl

TTERTOT, SYIT0T, Y&
Options :



ONOREE

Question Number : 15 Question Id : 7773934329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kamala walked 80 metres towards the north to reach a bus stand. Then she took a left turn and walked 40 metres to reach the library circle. She
again took a left turn and walked 80 metres to reach her college. How far and in which direction is she from the starting point?

Options :
1. ¥ 40 metres, West



2. % 40 metres, East
3. % 30 metres, North
4. % 30 metres, South

Question Number : 15 Question Id : 7773934329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HUA Y TS g & o8 IR BT 3R 80 Hiex Teit | fhx 98 a1 Gt § 3R 40 Hiex Taax TdhIad & URIR a Ugddt ¢ | fhr a8
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Options :

1. ¢ 40 HicR, ufgy

2. % 40 Hlex, qd

3. % 30 HIR, IR

4. % 30 Hie, gfémn

Question Number : 16 Question Id : 7773934330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arunima starts from her home and travels 2 km eastwards to reach a bakery, and then turns left and travels thrice that distance to reach a church.
She again turns left and travels five times the distance she covered between her home and bakery and reaches the office. The shortest distance
between her home and the office is:

Options :

1. % 10 km
2. % 12 km
3. % 14 km
4. % 16 km

Question Number : 16 Question Id : 7773934330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3rETOMAT 310 TR F TR Bt § 3R Teh dehl deb Ugar o fod gd T 3R 2 km Tl 8, 3R R &1E Yool 8 3R =1 b Ug e o g
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Options :

1. % 10 km
2. % 12 km
3. % 14 km
4. % 16 km

Question Number : 17 Question Id : 7773934331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to figure C in the same way as figure B is related to figure A.

z |
AN <= D | ?
A B C D
Options :
1. %




3. ¢

Question Number : 17 Question Id : 7773934331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fadhed o1 9 B @1 3T ¢ ¥ 31 51 TaiY § Sl SHTHIA B BT AP A T B
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A B C D




Question Number : 18 Question Id : 7773934332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the figure from among the given options that can replace the question mark (?) in the following series.

!

—

—e
—

e

ik

-—
*—
»—
-—

l||*

"

Options :




||

1. ®
ﬂ
e
e
_p.
2. ®
—e
—e
ﬁ
—e
3. ®
e
ﬁ
—0
— e
4. ¢

Question Number : 18 Question Id : 7773934332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

—
_'
1. #

—_—
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_.

4.9

Question Number : 19 Question Id : 7773934333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

P
DOCUMENT

Q

Options :

1. % DOCIOHEXL

) % THMIAUDOA

SIMT
3 o TAIMUIIO0d

4 % DOCNENRKL



Question Number : 19 Question Id : 7773934333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UeRId 'PQ & RIM UR 9d GUUT T oG, i fT U Ao & Tal GUUI-Bid &1 Ig- B |
P

DOCUMENT
Q

Options :

1. % DOCIOWEKL

by ® THUMIUDOd

TUTMT
3 TAdMiuood

4 % DOCNENKL

Question Number : 20 Question Id : 7773934334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following figures. How would
this paper look when unfolded?



......... ik
|

Options :

= s = o= wd



Question Number : 20 Question Id : 7773934334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT & [l Th S DI HIGH & HH 3R I AIS 7T BTl &I dle- & dldb dl Hgiferd sl & foaman a1 § | 519 SHTS &1 @il
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Options :

I:.' OLAQL

1OV 7TOL




General Awareness

Group Number : 2

Group Id : 77739396
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0



Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 777393187
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393221
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7773934335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Sewing machine was invented by a person named:
Options :

1. * Walter Hunt

2. % John Gorrie

3. ¥ Barthelemy Thimonnier

4. % Elias Howe

Question Number : 21 Question Id : 7773934335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ars 72iF &1 SnfasR Te aafad = fovar ot forgesT A o |

Options :



Question Number : 22 Question Id : 7773934336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Milk of magnesia is also known as:
Options :

1. ¥ magnesium carbonate

2. # magnesium chloride

3. ¥ magnesium hydroxide

4. % magnesium sulphate

Question Number : 22 Question Id : 7773934336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e it HefifRrn 1 FafoRad & 9 forg 8 § oft S S g2
Options :

1. % TIRRm HEte

2. % YR wIRTSS

3. ¢ UUiREH gagiass

4. % THRRE gathe

Question Number : 23 Question Id : 7773934337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following units is equal to 6 feet?
Options :

1. ¥ 1 fathom



2. * 1 decibel
3. # 1 kilometre

4. % 1 centimetre

Question Number : 23 Question Id : 7773934337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeRed # A 1 W gPTS 6 Bic B SRR Bell 82
Options :

1. v 1 ¥ed

2. % | Sf¥ed

3. % | fodrieR

4. % 1 JAHIR

Question Number : 24 Question Id : 7773934338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following neighbouring countries shares its boundary with the Indian state Sikkim?
Options :

1. # Pakistan

2. % Bhutan

3. % Bangladesh

4. ¥ Maldives

Question Number : 24 Question Id : 7773934338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R 3oy Rifaea & 1y 3o e argn &34 arar us ki 3w Fufafad 7 @ se-arg?
Options :

1. % Oriehed™

2. ¥ YA



3. % AT
4. % AT

Question Number : 25 Question Id : 7773934339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of soil develops on crystalline igneous rocks in areas of low rainfall in the eastern and southern part of the Deccan Plateau?
Options :

1. # Alluvial soils

2. % Arid soils

3. ¥ Red soils

4. # Black soils

Question Number : 25 Question Id : 7773934339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TFH & USR P gdf 3R feroft 4 & oo auf are &=t o fhwedia emig ae i R f5d TR @t et o1 faer giar 82
Options :

1. % Sdie fHel

Question Number : 26 Question Id : 7773934340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Akbar was married to Harkha Bai, daughter of Rajput ruler:
Options :

1. % Jai Singh I

2. % Bhagwant Das

3. % Man Singh



4. ¥ Bharmal

Question Number : 26 Question Id : 7773934340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JHaR HI [qdTe X1 d1% & 1Y §3AT YT, T8 IoTd TS B T 2
Options :

1. % oy g uuH

2. % YITdd G

3. % A g

4. % HRHAJ

Question Number : 27 Question Id : 7773934341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the name of the new garrison town constructed by Alauddin Khilji for his soldiers?
Options :

1. ¥ Amber

2. % Siri

3. % Narela

4, ¥ Alsisar

Question Number : 27 Question Id : 7773934341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT A faesll gRT 31y AT & forw a1 77T 7T A 1T &1 A1H 1 Y12

Options :
1. % 3R
2. ¢ ORI
3. % Al
4, % SRR



Question Number : 28 Question Id : 7773934342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states was annexed by the doctrine of lapse in 18547
Options :

1. # Satara

2. % Udaipur

3. % Jhansi

4. % Sambalpur

Question Number : 28 Question Id : 7773934342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad 7 3 foog g &1 1854 W g0 Hifd & ded e forar mar
Options :

1. # HdRT

2. % IR

3. il

4. % JIAR

Question Number : 29 Question Id : 7773934343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the viceroy of India at the time of the ‘Salt March’ started by Mahatma Gandhi?
Options :

1. % Lord Wavell

2. % Lord Irwin

3. # Lord Linlithgow

4. # Lord Willingdon

Question Number : 29 Question Id : 7773934343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T Mieht gRT R fobt T8 e A & gu fFafafad § @ o YR &1 aRig
Options :

1. % @ls add

2. ¢ QIS RMAA

3. % dls faAfaym

4. % qrs fafcrea

Question Number : 30 Question Id : 7773934344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following received the ‘Outstanding Civil Engineering Achievement Award' for 2020?
Options :

1. ¥ Delhi Metro

2. % Mumbai Metro

3. % Hyderabad Metro

4. % Kolkata Metro

Question Number : 30 Question Id : 7773934344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2020 BT I Y Rifaa st Suafsl R Fafatad & 3 foam v fear ge

Options :

Question Number : 31 Question Id : 7773934345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following books is written by actor Rishi Kapoor?
Options :

1. % Khullam Khulla

2. % Seventy...And to Hell With It

3. # It Happened in India

4. % Fallen Angel

Question Number : 31 Question Id : 7773934345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT B FR gR1 I Tae FHgfeied § S & I g2
Options :

1. & goTH gerdl

3. % 3T gus A Sfea

4. % oo Told

Question Number : 32 Question Id : 7773934346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The petition, in July 2020, has sought deletion of the words ‘secular’ and ‘socialist” from the Preamble of the Indian Constitution. In which year
were these words inserted in the preamble?

Options :
1. ¥ 1976
2. % 1978
3. % 1960
4. % 1962

Question Number : 32 Question Id : 7773934346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ST 2020 H, T TfIehT gRT HR WAL o1 TRaTa- 8 § yifRuer 3R FHSaTd] Rsal Bl g Bt AR &1 7T | YT H 3 Rsal
&1 forg o wfvferd faa T um

Options :

1. ¥ 1976

2. % 1978

3. % 1960

4. % 1962

Question Number : 33 Question Id : 7773934347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Schedules of the Constitution of India lists the official languages of the Republic of India?
Options :

1. % 7 Schedule

2. ¢ 8 Schedule

3. % 6t Schedule

4. % 9th gchedule

Question Number : 33 Question Id : 7773934347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & Tfqyr ot Fofafad & & & It S YR TR ST w1 Ul &1 YeHiag ot 8?2

Options :

Question Number : 34 Question Id : 7773934348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is the largest archaeological museum in Kerala?
Options :

1. ¥ The Hill Palace Museum

2. % Museum of Kerala History

3. % Napier Museum

4. % Arakkal Museum

Question Number : 34 Question Id : 7773934348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B DT T FST RITcdd GUGTAT I AT g2
Options :

1. ¢ 59 Ooi SigTer

2. % TUGII h_d A8 (Rorad 311t hd fgeh)
3. % AR GBI

4. % IRDHA UG

Question Number : 35 Question Id : 7773934349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following cities has been included in the UNESCO Creative Cities Network for its contribution to music, in November 2017?
Options :

1. % Mumbai

2. % Chennai

3. # Kolkata

4. % Pune

Question Number : 35 Question Id : 7773934349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FdaR 2017 ¥, FHafciRad & T ford q1eR &1 Iitd T 31U= ANTe o foT, Gh! & Xa-Td s Rex) &) et J e fosar mam

Options :



Question Number : 36 Question Id : 7773934350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The purpose of the Industrial Policy Resolution 1956 was to promote
Options :

1. ¥ Regional equality

2. % Agricultural export

3. # Privatization

4. # Special Economic Zone

Question Number : 36 Question Id : 7773934350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR A Hhed 1956 BT IexT 390 U [Huew! Hadq w1 um
Options :

1. ¢ &I FHFA

2. % Py i

3. % fASiiepRum

4. % faviy anffes &=

Question Number : 37 Question Id : 7773934351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among these was introduced in 2003?
Options :

1. #* Industrial Policy Resolution



2. ¥ Fiscal Responsibility and Budget Management Act
3. % National Economic Policy

4. ¥ Consumer Protection Act

Question Number : 37 Question Id : 7773934351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2003 § o1 fobam T T

Options :

1. % 3NN Aifd dhed

2. ¢ ISP IY ITRGIIE 3R 3 - TP Tae s
3. % P offdfep i

4, % JUHISIT TR&TUT SHTATH

Question Number : 38 Question Id : 7773934352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following football players was awarded the Golden Boot in the FIFA World Cup, 2018?
Options :

1. ¥ Harry Kane

2. % Antoine Griezmann

3. # Lionel Messi

4. ® Romelu Lukaku

Question Number : 38 Question Id : 7773934352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRed & 9 food Pesia RICTS! o1 BIwT fdy U, 2018 H Ties §¢ § G fobar T 4
Options :

1. g0 B

2. % WS Wi



3. % dAigad o
4. % A0 IPTH

Question Number : 39 Question Id : 7773934353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is India's youngest Woman Grandmaster.
Options :
1. ¥ Humpy Koneru
2. % Eesha Karvade
3. % Subbaraman Vijayalakshmi

4. ¥ Soumya Swaminathan

Question Number : 39 Question Id : 7773934353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ! Tad HH 31 Pt Al ISR B

Options :

1. ¢ O D%

2. % ZYTHES

3. % geaRAA faorgaet
4. % QT WHATE

Question Number : 40 Question Id : 7773934354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Winter Olympics 2022 are scheduled to be held at .
Options :

1. % Tokyo

2. % Delhi

3. ® Paris



4. ¥ Beijing

Question Number : 40 Question Id : 7773934354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WdBTAA NeAftes 2022 T ford g ardt B

Options :
1. % Sl
2. % facedl
3. % URY
4. ¢ SIS
Arithmetic Ability
Group Number : 3
Group Id : 77739397
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 777393188
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 777393222
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7773934355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of the following expression.

256=12+4
1.76 —(44-3.02)

Options :
2
42 —
19

33

2% 50
3 % 200

66>
4.4 3

Question Number : 41 Question Id : 7773934355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad sieie &1 A 1d SifsT|

256+12+4
1.76—(44-3.02)




Options :
2
42 —
19

33
2. 50

3 % 200

66>
4.4 3

Question Number : 42 Question Id : 7773934356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sum and difference of the LCM and HCF of two numbers are 176 and 144, respectively. If the sum of the two

numbers is 112, then find the difference in the numbers.
Options :
1 % 406

) # 50
3 " 48
4. % 44

Question Number : 42 Question Id : 7773934356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3l TReAredl & AT SHYad SR HeTH GAMIAdS & IR 3R AR HHRE: 176 3R 144 ¢ | Al SHT Semaft &1
gRT 112 ©, Tl T3t &1 3R F1d HIfor|

Options :
1. ® 46

) # 50
3.¢ 48

4.% 44

Question Number : 43 Question Id : 7773934357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of the following expression.

TR L
T-j3+2x23
Options :
3
25—
1. # 7
3
15-=
2.¢
3
G
3 % 7
3
16-



Question Number : 43 Question Id : 7773934357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FgiaRad =vie &1 {9 1 SHifeg|

T 4+5
L2y 4+ |
T~3+2x23
Options :
3
2h—
1. # 7
3
15
2. ¥ 7
3
G
3. % 7
3
16-
4, ® 7

Question Number : 44 Question Id : 7773934358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the greatest value of (p — q) such that the 7-digit number 612p3q4 is divisible by 11 (p = g).
Options :

. ® 3

2.« 4



Question Number : 44 Question Id : 7773934358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 HISY 7 3{chi B AT 612p3q4 & AT (p - q) BT SHAHTH A J1d Bito | G, (p = ¢)
Options :

1% 3

Question Number : 45 Question Id : 7773934359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If B's income is 30% less than A’s income, then find the percentage by which A’s income is more than B’s income

(correct to one decimal place).
Options :
% 41.8%

5 & 42.9%

3. % 40.5%



4 % 42.5%

Question Number : 45 Question Id : 7773934359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG B BT A A D] Y 30% BHE, AT AD] A B DI A Y o Yid sii¥e g (GIHAd & U F db
e HI)?

Options :

1. % 41.8%

2 @ 42.9%

3 % 40.5%

L
y =
=

4 % 42,

Question Number : 46 Question Id : 7773934360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper bought a large pack of porridge for 2380 and sold it at a 15% profit. At what price did he sell the pack?
Options :

| % %305

7 437

3 % 3432

4 % 427



Question Number : 46 Question Id : 7773934360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U GHMER - gl &l U &S] Udhe 2380 H TRIGT 3R 39 15% T IR & f&a1| I8 Udhe ol 9 S 1)
4

Options :
1. ® 395

7 437
3 ® 432

4 % 427

Question Number : 47 Question Id : 7773934361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two alloys are made by mixing Brass and Copper in the ratio of 5: 2 and 5 : 9, respectively. By taking quantities of the
two alloys in the ratio of 3 : 2, a third alloy is made. What will be the ratio of Brass and Copper in the third alloy?
Options :

1% 1:1

2. 4:3

3. % 25:12



Question Number : 47 Question Id : 7773934361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uiad AR did &I HHRE 5 : 2 3R 5 : 9 P Ul H e Gl A8l §115 15 & | SF s argafi i3 2 &
YT H WHR U dIR] ST 915 T3 | R g o dide ofR did &7 Furd &1 g

Options :
1% 1:1

o 4:3

3. % 25:12

Question Number : 48 Question Id : 7773934362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A purchased an item for 2850 and sold it to B at a 20% profit; B sold it to C at a 25% loss; and C sold it to D at a 20%

profit. Find the difference between the profits of A and C (in %)?
Options :
1 % 22

2. % 18



Question Number : 48 Question Id : 7773934362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Td a%] 2850 H WRIGT 3R 3 B Bl 20% ATH TR &4 f&4T: B 7 TH € Bl 25% B W &9 1341 3R ¢ 454 20%
Y TR D B a9 [&4T1 A 3R ¢ & arHl & g BT 3R (2 H) 1 Difore?

Options :

1%-,3 i |

) % 18

4.9 17

Question Number : 49 Question Id : 7773934363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A certain sum becomes 228,750 in 3 years at 5% per annum on simple interest. Find the sum.

Options :
| % 226,000
) ® 25,800

3 % 224,500

4 v T25.000



Question Number : 49 Question Id : 7773934363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ueh T3 IR FIEYROT 1S W 506 TMies BT <X 3 991 7 228,750 TSIl & | M A1 IS

Options :
| % 226,000

, % ¥25.800
3 % 224,500

4 v T25.000

Question Number : 50 Question Id : 7773934364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The difference between the simple interest and the compound interest on a certain sum at 5% per annum for 1 year

when compounded semi-annually is 2191. Find the difference between the two Interests when interest is compounded
annually on the same sum at the same rate for 2 years.
Options :

1. ® T745

, % 758



Question Number : 50 Question Id : 7773934364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (% TR 1 9y & 1Y 596 a1fties &R 9, 1S 2f<-q1fiies U Y TIToid 8- UR, JIURU &7 3R Ieh gl

ol & 91 3 2191 &1 TAM IR R, TAM R I, 2 T8 o oY T U J YGiford 81 TR, &1 il & d1d
3R 1A HH|

Options :

| % %745

Question Number : 51 Question Id : 7773934365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together can do a work in 18 days. B and C together can do the same work in 10 days. and A and C together
can do the same work in 15 days. If A, B and C work together, then in how many days will the work be completed?
Options :

1.v 9



Question Number : 51 Question Id : 7773934365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AIRBUG T TS GBI 18 e H R Thd . B 3R ¢ A I eM Bl 10 fGi Hax Ubd g auT A 3R ¢
e I B Bl 15 &1 H B Tbd 31 3¢ A, B 3R ¢ T Uiy &1 &3d 8, Al b fobha el H QI BRI
Options :

1.¢ 9

Question Number : 52 Question Id : 7773934366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 450-m-long train is running at a speed of 72 km/h. If it crosses a tunnel in 40 seconds, then find the length of the
funnel (in m).

Options :

| % 275

5 % 315



Question Number : 52 Question Id : 7773934366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

450 m T8l U &1 72 kn'h &1 9101 U I Vel 8 | AfE T B T BI 40 Ydhs H UR Sl 8, dl YU &1 Aalg (m
#) J1d S|

Options :

1. % 275

5 % 315

4 @ 350

Question Number : 53 Question Id : 7773934367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In an examination, the average marks of 30 students of section A is 32.2, that of 20 students of section B is 32.5 and that

of 25 students of section C is 34. Find the average marks of the students of sections A, B and C?
Options :
1. % 32

5 ® 32.25



Question Number : 53 Question Id : 7773934367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U GRIET H, 971 A & 30 BT BT 31Gd Wkl 32.2 8, T B & 20 SHT &1 3IGd WKlidh 32.5 8 AR T ¢ & 25 SHI
T SId Wb 34 81 T A, B 3R ¢ & B[ o 319d b J1d DI

Options :

1. ® 32

» % 3225

3 v 32.88

Question Number : 54 Question Id : 7773934368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Every item in a shop is available at a 1020 discount. Neha being a regular customer was allowed an additional discount
of 10%. She bought an item marked at ¥7,500. How much did she pay for the item?

Options :
| % 76,020

5 o 26,075



3 % 6,064

4 % 6,050

Question Number : 54 Question Id : 7773934368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % 6,020

5 o 26,075
3 % 6.064

4 % 76,050

Question Number : 55 Question Id : 7773934369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A side of a rhombus is 13 cm and one diagonal is 24 cm. Find the area of the rhombus.

Options :

<
1 % 112 cmm”

.
> % 102 cm”



3 % 116 cm?

4.« 120 cm-

Question Number : 55 Question Id : 7773934369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U GG B U Holl 13 om R UH [GHU 24 em & | THAGHS &1 &AHA J1d DI |

Options :

<
1 % 112 cmm”
.
> % 102 cm”
.
3 ® 116 cm”

4. ¢ 120 cm?

Question Number : 56 Question Id : 7773934370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A rectangle with one side of 18 cm has an area equal to that of a triangle with sides 15 cm, 15 em and 18 cm. What is

the length of a diagonal of the rectangle (in cm)?

Options :

e 5V
N



3.v 6V10
% SO

Question Number : 56 Question Id : 7773934370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ush H1Gd foTeh] Teb YOIl 18 cm 8, 1 &FWHA 15 cm, 15 cm 3R 18 em @1 Yol aTdl FHIYe & &% & SRIER |
T & Ueh AUl & Aalg (om ) H1 82

Options :

L« 5V

% 647
3.v 6V10
L« ST

Question Number : 57 Question Id : 7773934371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three metallic solid spherical balls of radius 3 cm, 5 cm and k cm, respectively, are melted to form a solid sphere of

radius 6 cm. What is the value of k?
Options :
1. % 4.5



Question Number : 57 Question Id : 7773934371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHHTT: 3 cm. 5 cm 2R k em 1 a6 d1F e1fd® 2R 319 TSR il & U9 3, 6c111ﬁﬂﬁwmw
ST STl 8 | k bl HIF &1 g2

Options :

1. % 4.5

2.¢ 4

Question Number : 58 Question Id : 7773934372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Data in the following table shows the hour-wise distance covered by Amit on a day on his bike from 9 am to 2 pm. How

far did he travel from 9 am to 2 pm?

Time 9am-10am (10am-11 am 11 am-12 noon 12 noon-1 pm 1pm-2 pm
Distance 40 32 42 0 33
{in km)




Options :
1. % 151 km

) ®% 158 km
3 « 152 km

4 % 157 km

Question Number : 58 Question Id : 7773934372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e arfeier ® faU 1T afids AT GRT U §156 W U 61 H g 9 I aIUeg 2 59l 0 d9 &l 7T, Hc-
aR 31 I &2M1d €| g 9 ool Y GIUeR 2 ol b 39 gRI IE H 09 I 7T &3l 1 82
Ty gEe 9910 [Es 10911 gEE 11 9 5198< 12 IMEI 121 TOET1H2

=5l 40 32 a2 0 33
{(km )

Options :
1. % 151 km

7 % 158 km

3 « 152 km

4 % 157 km

Question Number : 59 Question Id : 7773934373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The following bar graph shows the number of caps (in dozen) of different colours manufactured and sold by a dealer in

a day. How many more caps of white colour have been sold than those of green colour?

14
- 13
g 12 N
RTREN
= 10 N
=
= 9
g 51
31 7 %
E 6 \ M Manufacture
; i: \‘ @ Sale
'é 3 N N
2 -
?’I ﬁ _._'%L i | '_ﬁ%ﬁ" - 1
Black White Blue Red Green
Colour of Caps
Options :
1. % 3
) ® 24
3 % 20
4. 36

Question Number : 59 Question Id : 7773934373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 3

) ® 24

4. 36

Question Number : 60 Question Id : 7773934374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following pie-chart shows the subject-wise enrolment in a university in a vear. Total enrolment in the university is
7560. If the ratio of number of male students and number of female students in Commerce is 3 : 5, and the ratio of
number of male students and number of female students in Computer Science is 3 : 2, then the number of male students
in Computer Science is what percentage more than the number of female students in Commerce (correct to 2 decimal

places)?

Science

Computer
Science

Humanities

Options :
1. % 35.24%

» % 36.52%
3 % 36.85%

4 & 37.14%

Question Number : 60 Question Id : 7773934374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 35.24%

» % 36.52%

3. #% 36.85%
4.« 37.14%
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Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7773934375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’.

Everybody are accepting that vegetables are good for health.
Options :

1. # Everybody are acceptable

2. ¥ Everybody is accepting

3. % Everybody is accept

4. % No improvement

Question Number : 61 Question Id : 7773934375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’.

Everybody are accepting that vegetables are good for health.

Options :

1. # Everybody are acceptable
2. ¥ Everybody is accepting
3. % Everybody is accept

4. # No improvement

Question Number : 62 Question Id : 7773934376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

I made a conscious effort to reach there of time.
Options :

1. # to time.

2. ¥ on time.

3. % by time.

4. % No improvement

Question Number : 62 Question Id : 7773934376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the alternative that will improve the underlined part of the given sentence. If no improvement is required, select ‘No improvement’

I made a conscious effort to reach there of time.
Options :

1. # to time.

2. % on time.

3. # by time.

4. % No improvement



Question Number : 63 Question Id : 7773934377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

My brother who is a doctor has a very hectic these days.
Options :

1. # plan

2. # chart

3. % schedule

4, % outline

Question Number : 63 Question Id : 7773934377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

My brother who is a doctor has a very hectic these days.
Options :

1. # plan

2. % chart

3. % schedule

4. % outline

Question Number : 64 Question Id : 7773934378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct synonym of the word 'rejuvenation’ from the following:
Options :

1. ¥ Renewal

2. % Resignation

3. # Repetition

4. # Replication

Question Number : 64 Question Id : 7773934378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Choose the correct synonym of the word 'rejuvenation' from the following:
Options :

1. ¥ Renewal

2. % Resignation

3. # Repetition

4. % Replication

Question Number : 65 Question Id : 7773934379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

My friend hurt himself /because he tried/ to jump off a bus /while it moved.
Options :

1. ¥ My friend hurt himself

2. # because he tried

3. # to jump off a bus

4. ¥ while it moved

Question Number : 65 Question Id : 7773934379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following sentence and identify the part that has an error.

My friend hurt himself /because he tried/ to jump off a bus /while it moved.
Options :

1. # My friend hurt himself

2. # because he tried

3. % to jump off a bus

4. ¥ while it moved

Question Number : 66 Question Id : 7773934380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

A ticket will be give to you by the manager.
Options :

1. % will be

2. ¥ give

3. % to

4. % by

Question Number : 66 Question Id : 7773934380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following text contains four underlined words or phrases. Choose the incorrect option.

A ticket will be give to you by the manager.
Options :

1. # will be

2. ¥ give

3. % to

4. % by

Question Number : 67 Question Id : 7773934381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is appropriate for the blank.

I teach English Mathematics.
Options :

1. * both, or

2. % both, also

3. % not only, but also



4. # not only, but

Question Number : 67 Question Id : 7773934381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is appropriate for the blank.

I teach English Mathematics.
Options :

1. #* both, or

2. ® both, also

3. ¥ not only, but also

4. % not only, but

Question Number : 68 Question Id : 7773934382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate synonym of the given word.

pursue
Options :
1. ¥ follow
2. # drive
3. % support
4. % quit

Question Number : 68 Question Id : 7773934382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate synonym of the given word.

pursue
Options :



1. ¥ follow
2. # drive
3. % support
4. % quit

Question Number : 69 Question Id : 7773934383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct word from the options given below.

The learned professor’s has added great value to the book.
Options :

1. # forward

2. # foreward

3. ¥ foreword

4. % fourword

Question Number : 69 Question Id : 7773934383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the correct word from the options given below.

The learned professor’s has added great value to the book.
Options :

1. # forward

2. # foreward

3. % foreword

4. % fourword

Question Number : 70 Question Id : 7773934384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct word from the options given below and fill in the blank.



Martin Luther King walked up to the amidst loud cheers.

Options :
1. # dias
2. # daze
3. ¥ dais
4. # diase

Question Number : 70 Question Id
Orientation : Vertical

: 7773934384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct word from the options given below and fill in the blank.

Martin Luther King walked up to the
Options :
1. # dias
2. % daze
3. ¥ dais
4. % diase

Question Number : 71 Question Id
Orientation : Vertical

amidst loud cheers.

: 7773934385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate one-word substitute for the given group of words.

One who treats skin disease
Options :

1. ¥ Dermatologist

2. % Psychiatrist

3. # Chiropodist

4. % Obstetrician

Question Number : 71 Question Id

: 7773934385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate one-word substitute for the given group of words.

One who treats skin disease
Options :

1. ¥ Dermatologist

2. % Psychiatrist

3. # Chiropodist

4. % Obstetrician

Question Number : 72 Question Id : 7773934386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom or phrase.

Break down

Options :

1. % End a relationship
2. % Stop working

3. % Stop a fight

4. # Stop a meeting

Question Number : 72 Question Id : 7773934386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom or phrase.

Break down

Options :

1. # End a relationship
2. ¥ Stop working

3. % Stop a fight



4. ¥ Stop a meeting

Question Number : 73 Question Id : 7773934387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the idiom or phrase given.

Be above board

Options :

1. * To be over the board of directors in a company
2. % To cross one's limits

3. ¥ To be completely honest and legal

4. % To bypass authority

Question Number : 73 Question Id : 7773934387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the idiom or phrase given.

Be above board

Options :

1. *® To be over the board of directors in a company
2. % To cross one's limits

3. ¥ To be completely honest and legal

4. # To bypass authority

Question Number : 74 Question Id : 7773934388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. specially heart problems can be cured by effective surgery and drugs
Q. we should also live happily without stress and depression



R. and in order to prevent these heart problems
S. new technological advancements are a boon to medical sciences,

Options :

1. ¥ SPRQ
2. % QRPS
3. % QPRS
4. ¥ SQRP

Question Number : 74 Question Id : 7773934388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. specially heart problems can be cured by effective surgery and drugs
Q. we should also live happily without stress and depression

R. and in order to prevent these heart problems

S. new technological advancements are a boon to medical sciences,

Options :

1. ¥ SPRQ
2. % QRPS
3. % QPRS
4. ¥ SQRP

Question Number : 75 Question Id : 7773934389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. so we have to carefully handle the words

Q. because we can be understood or misunderstood

R. which can be a great blessing or a great curse for us

S. speech is an expression or communication of thoughts in spoken words
Options :

1. # RSPQ



2. % RPQS
3. ¢ SRQP
4. % SPRQ

Question Number : 75 Question Id : 7773934389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a meaningful sentence.

P. so we have to carefully handle the words

Q. because we can be understood or misunderstood

R. which can be a great blessing or a great curse for us

S. speech is an expression or communication of thoughts in spoken words

Options :

1. % RSPQ

2. % RPQS

3. ¥ SRQP

4. % SPRQ

Sub-Section Number : 2
Sub-Section Id : 777393224
Question Shuffling Allowed : Yes

Question Id : 7773934390 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions that follow:

Of all the areas of learning, the most important is the development of attitudes. Emotional reactions as well as logical thought processes affect the
behaviour of most of the people.

“A burnt child dreads the fire” is one instance; another is the rise of despots like Hitler. Both of these examples point out the fact that attitudes
stem from experience. In the first case, the experience was direct and impressive; in the other, it was indirect and cumulative. The indoctrination

of the Nazis was largely due to the speeches they heard and books they read.

The classroom teacher in the elementary school is in a strategic position to influence attitude. This is true partly because children acquire



outlooks from these adults whose word they respect. Also, at ages 4-10, children are at their most impressionable and therefore imbibe the best
attitudes by mirroring adults around them.

Another reason, it is true, is that pupils often go deeply into a subject in school in a formalized method, on themes that have only been touched
upon at home or has possibly never occurred to them before. In homes, adults are often relaxed around children, and learning is not always
formalized.

However, when older children come to school with undesirable attitudes, it is unwise for the teacher to attempt to change their feelings by
cajoling or scolding them. He/she can achieve the proper effect by helping them to obtain constructive experiences of life.

A class of such children can develop better attitudes through discussion, research, outside reading, and all-day trips.
Sub questions

Question Number : 76 Question Id : 7773934391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The key message in the passage focuses on
Options :

1. ¥ Attitude

2. % Control

3. # Observation

4. % Punishment

Question Number : 77 Question Id : 7773934392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The meaning of the only word underlined in the passageis
Options :

1. # Political leaders of the far-right orientation

2. ¥ A person who uses power or authority in a cruel or unjust way
3. % A person who despises the weak

4. # A criminal who escapes public scrutiny or legal control

Question Number : 78 Question Id : 7773934393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Why are elementary school teachers in a “strategic position’?

Options :

1. # They are able to relax in their jobs and enjoy handling children
2. # They are powerful and can make or break the futures on children.
3. ¥ They can influence young children to adopt balanced attitudes

4. #% They are empowered to scold g their students

Question Number : 79 Question Id : 7773934394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Children ‘s attitudes are influenced by their techers at the elementary school for all the following reasons except that
Options :

1. # Children respect their teachers more than anybody else.

2. # being at an impressionable age,children imbibe the attitudes of their teachers.

3. ¥ the teachers are often relaxed around children

4. % children learn things deeply at school in a formalized manner.

Question Number : 80 Question Id : 7773934395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the constructive activities that help children who have undesirable attitudes?
Options :

1. # Home schooling by parents

2. # writing, singing and mathematics

3. ¥ Social interaction, group discussions, extra reading and excursions help children

4. % social interaction within a large family

Question Id : 7773934390 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage and answer the questions that follow:



Of all the areas of learning, the most important is the development of attitudes. Emotional reactions as well as logical thought processes affect the
behaviour of most of the people.

“A burnt child dreads the fire” is one instance; another is the rise of despots like Hitler. Both of these examples point out the fact that attitudes
stem from experience. In the first case, the experience was direct and impressive; in the other, it was indirect and cumulative. The indoctrination
of the Nazis was largely due to the speeches they heard and books they read.

The classroom teacher in the elementary school is in a strategic position to influence attitude. This is true partly because children acquire
outlooks from these adults whose word they respect. Also, at ages 4-10, children are at their most impressionable and therefore imbibe the best
attitudes by mirroring adults around them.

Another reason, it is true, is that pupils often go deeply into a subject in school in a formalized method, on themes that have only been touched
upon at home or has possibly never occurred to them before. In homes, adults are often relaxed around children, and learning is not always
formalized.

However, when older children come to school with undesirable attitudes, it is unwise for the teacher to attempt to change their feelings by
cajoling or scolding them. He/she can achieve the proper effect by helping them to obtain constructive experiences of life.

A class of such children can develop better attitudes through discussion, research, outside reading, and all-day trips.
Sub questions

Question Number : 76 Question Id : 7773934391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The key message in the passage focuses on
Options :

1. ¥ Attitude

2. % Control

3. # Observation

4. % Punishment

Question Number : 77 Question Id : 7773934392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The meaning of the only word underlined in the passage is
Options :

1. # Political leaders of the far-right orientation



2. ¥ A person who uses power or authority in a cruel or unjust way
3. #® A person who despises the weak

4. ® A criminal who escapes public scrutiny or legal control

Question Number : 78 Question Id : 7773934393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why are elementary school teachers in a “strategic position’?

Options :

1. # They are able to relax in their jobs and enjoy handling children
2. ® They are powerful and can make or break the futures on children.
3. ¥ They can influence young children to adopt balanced attitudes

4. ® They are empowered to scold g their students

Question Number : 79 Question Id : 7773934394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Children ‘s attitudes are influenced by their techers at the elementary school for all the following reasons except that
Options :

1. ® Children respect their teachers more than anybody else.

2. % being at an impressionable age,children imbibe the attitudes of their teachers.

3. ¢ the teachers are often relaxed around children

4. ® children learn things deeply at school in a formalized manner.

Question Number : 80 Question Id : 7773934395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the constructive activities that help children who have undesirable attitudes?
Options :

1. ¥ Home schooling by parents

2. % writing, singing and mathematics

3. ¥ Social interaction, group discussions, extra reading and excursions help children



4. # social interaction within a large family
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Question Number : 81 Question Id : 7773934396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I iU T fawed! & I Hw1 &7 Srefded &4 adrsu|




Options :

1. % dlg
2. % fbe
3. ¢ fob=H
4. % Dbzl

Question Number : 81 Question Id : 7773934396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fou T fawedl & T Fw7 &7 Srefaeqd 0 gy
Options :

1. ® Plg

2. % fbaH

3. ¢ fbo=H

4, % DGl

Question Number : 82 Question Id : 7773934397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 b Treq o1 31 ST ©-
Options :

1. % By

2. % i

3.8

4. % Ul

Question Number : 82 Question Id : 7773934397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e # 9 T wreg o1 oY st &-

Options :



1. % HfY
2. % PHid
3.9 g
4. % Bl

Question Number : 83 Question Id : 7773934398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT T A YdTad § 2

Options :

1. % P

2. I}

3. % 31

4. % g

Question Number : 83 Question Id : 7773934398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I T Y aTad § 2

Options :

[. # ™

2. IR

3. % 34

4. % g

Question Number : 84 Question Id : 7773934399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad # A fy g ® Sfd o - =gl &1 v gen &-
Options :

1. ¥ 3R A g aui &G 3+ Yo Y AIC |



2. % 3R, gH S a¥f §1g 3,1, Y Alic |
3. % 3R qH! 3 qUl 91 3-U- ¥ Ae?
4. % 3R TH I Y| 918 3-Ye Y de?

Question Number : 84 Question Id : 7773934399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad 7 @ fova g 1 Iferd fav - forgl o1 v gan &-
Options :

1. ¢ 3R A 3 Al &G 3+ Yo Y AIC|

2. % 3R, TH A AN 91 3.9, Y Aic|

3. % 3R qH! S IWI 91 3-U- ¥ dle?

4. % 3R gH A S| 918 3-Y- F Ale?

Question Number : 85 Question Id : 7773934400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad o 2 fg are 8 Sfa fovm - fast s i gen 22
Options :

1. % SRR YT GRT A SHTHEAT ‘HIcrorir a1 g |

2. % TORIPBR TG GRT Aod BT HTcs I 8!

3. ¢ SRR TG GRT ed STHEAT Srastd 1 8|

4. ® TOYHR UG GRI IFed (BTG BT Ia1 5|

Question Number : 85 Question Id : 7773934400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 forg areg & Ifrd fovm - gl &1 T gan g2
Options :

1. % SRR gITe gRT Id STH™AT ‘STererdt A 7 |

2. % SUB 'YIG GRI I "BTHRT BT I 3!




3. ¢ SORHR YIS gRT IR ST HTetori T 5 |
4. % TUYHR YIS gRI Ifd (BT ‘BIerordl Ia1 3|

Question Number : 86 Question Id : 7773934401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefea o @ Ifad form - el & <y forar mon Y a1 &-

Options :

1. % Tieh S S et , e SifET, U, TgTNT 3R YR BT 30 Sia T fRegT a1 =R |
2. % T oft 3 T ! gH ST, UH , GgaNT 3R ISR BT 30 Sita T fGxdT ST 9|
3. % el Sft 9 et - g ST U9 -GN 3R YSRIR B 3704 Siia BT o1 §=1+1 8T
4.« TR S A BT, " X AT, UH . gANT 3R YRR T 304 Sita 1 fgeqn =1 =nfgu |

Question Number : 86 Question Id : 7773934401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o @ Ifud form - el & <y foran T Y a1 &-

Options :

1. % Tieh S A peT, ew e, U, gaNT 3R YR B U g o e s = |
2. % TSI A HT 1 BH AT, UH , T8N 3R YeIR DI 304 Sia- &1 38T 911 =y |
3. % e oY 7 gl - g 3T -UH -8 3R SER BT 3T Sia- BT fRwdT a1 =1t

4.« e St A e, » W 3T, UF , TEANT 3R YR Y 3UA Siid &1 feean s anfeul

Question Number : 87 Question Id : 7773934402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRSl X[eG DTG ?

Options :

1. % YgH

2. ¢ fagat

3. ® U™




4. % ¢

Question Number : 87 Question Id : 7773934402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRS Weg PTG 2

Options :

1. # YgMH

2. ¢ fagat

3. % JUqy

4. % Tc

Question Number : 88 Question Id : 7773934403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP T, fhg TN BT 8 2

Options :

1. ® 3Re

2. % gPI

3. ¥ BREL

4. % YTl

Question Number : 88 Question Id : 7773934403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G Xeq [ T BT § 2

Options :

|. % 3Rl

2. % @l

3. ¢ BRAI

4. % Yarel!



Question Number : 89 Question Id : 7773934404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tral Ud STa Y A 9 o Sre g &1 o g2
Options :

1. % ORIUG U

2. % Y Td UTy

3. ¢ U1 TG UTy

4. % g Ud U

Question Number : 89 Question Id : 7773934404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl Ud T 9 B oy 2res g &1 ef g2
Options :

1. % O T4 U

2. % U Td ury

3. ORI Td Uiy

4. % g Td U

Question Number : 90 Question Id : 7773934405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN & 3MYR TR GeHEIHD el P fhad He 82
Options :

1.3

2. % T

3. % gR

4. % g



Question Number : 90 Question Id : 7773934405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & 3R IR Heyayeh sl & b Na 62
Options :

1.3

2. % dfiF

3. % IR

4. % G

Question Number : 91 Question Id : 7773934406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & & Tt gues g s A g 2
Options :

1. #

Question Number : 91 Question Id : 7773934406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 8 O I Es g e g 2
Options :

1. ®

Question Number : 92 Question Id : 7773934407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e & & ST $RS HT I&IEXUI a1 §--
Options :

1. ¢ fgrea 9 i e g1

2. % T AIH Y B Pl ¢

3. % T U HEd DI HHS I WHT T g |

4. % T 3R T T & If F g GerdT B

Question Number : 92 Question Id : 7773934407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafifEd 8 & 3ureH SRS ST Ie0 a1 B--
Options :

1. ¢ fearera § v Rbed B

2. % G AIH U hd Bl g

3. % T U HeId &I TS I T e 6|

4. % FH 3R ToH 0 1 G T JeRA B

Question Number : 93 Question Id : 7773934408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed ¥ § gWeH $RE &1 360 a1 B--
Options :

1. % fOar 3 9= & Wad |

2. % 39 U HIdT ! g

3. ¢ A A dgd! B gifear gl

4. % A Higd &I W1 A g1

Question Number : 93 Question Id : 7773934408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fafied & & T $RS HI ISex a1 6--
Options :

1. % fOar 3 9= & Wad |

2. % 39 U HIdT ! g

3. ¢ A A dSd! B gifear gl

4. % W HIg S G RIarar g

Question Number : 94 Question Id : 7773934409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fT T gl & § Wgad A el
Options :

1. % FHIER T ol T ST T AR HolT|

2. ¢ Hig Sl Y dTgd T, 98 34 7 T |
3. % IR U g3, IR ARI a1 7T

4. % o719 918 9 T8, W § THASR |

Question Number : 94 Question Id : 7773934409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U T aret § § Wgad a1 el B |
Options :

1. ® HHIGR I1 dl T ST AT IR HolT|

2. ¥ Tig Sl qRde el o, I8 39 e T3
3. % TR YA 3T, TR URT 8] 1|

4. % {3798 AT 8, W & GAZER |

Question Number : 95 Question Id : 7773934410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f3u T ared § 1 Tgad a1 8-

Options :

1. % I 7 3T UH S a1d Yo 39 F et At
2. % i 98 U 81 1T, 3Yferg H I FeTS
3. % gg a1 Yohl g3 UT fob W< BT GiReht Tl
4. ¢ 3T Fgl {98 Qo T 5|

Question Number : 95 Question Id : 7773934410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T2 g § ¥ Tgad a1 -

Options :

1. % JGd 7 AT UM P a1d G 319 et AT
2. % ifP 98 Uty g 7T, 39ferT HA I8 9UTS
3. % gg a1 Yohl g3 YT fob WS g1 giRehat Tl
4. ¢ I Hg1 & 98 W S @13

Sub-Section Number : 2
Sub-Section Id : 777393226
Question Shuffling Allowed : Yes

Question Id : 7773934411 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

TR B Ughx Taierd U bl ITR gIfod |

TiRfa & IreqT § qRIbTerdl o7 R 3dd Hewaqul 3 | 3790 gRT TIfed & Siia 1 &, Iy 3R ifigfg gidt § 1 RaeTad 9war &
2fIET BT SdI-SIFTdT 71dT8 & | S9! & §d UR gadT HRA BI 3T 3{cdTd 1TRd W 7T § | [adbiad HRd & fol ®is -8 a%g 1ol ol [l &
STISHR TS T ANT AR JxAD| BT TUT B 6 & | Tgdl garard, [aeerd iR Ju1ad 31 UUs! o T R gid | 390 SHfdia,
fagei & 3= ol grasmrerd 4 Bid 8| GRurdhdll o SMOWhR ¥ 4 G| BT AU BT ATDhd 1 kg IRd a1 = 2T | fTefepd
TR fUfS & qRasprag # ford=t Fufty @t 8, Ia-1 3 il wt-aift Ueh-ue Toas &1 dart & @ S et off | HRd & RasTad
YYR R H U T d U | YT bl A HIed FHICh o 7 b Ug! T 71 19, BRE Uyfd Yo Rd 30 4 gs-o s faargRmit
el IR DR HRA T R |




Sub questions

Question Number : 96 Question Id : 7773934412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIRT &1 Gaitied Sugad XMy o1 81 Tehdl 82
Options :

1. % gt & dey=

2. % QIABIAY Dl RITYAT

3. ¢ TABAY 3R URA

4. % JIHTAY B uRifG

Question Number : 97 Question Id : 7773934413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QXIBTAd! b HRUT HRT DI &l TRd UK T2

Options :

1. ® APl & HRUHRA Bi TS (S g3

2. % TABIC! & BRI YRA $I ATHIID TRd YT T |

3. ¢ TABTA! & HRU YR & IS TU F I7d 3R AT 811 &1 T1Rd I o]
4. % YIS & HRUI YR & Ui U F I7d 81 BT 1R U T |

Question Number : 98 Question Id : 7773934414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Teii-ehTd H QAT IR 3w g -l gidl U1?
Options :

1. % ffd &1 SfashR 7 811 & HRUI
2. % fIITRIT & 3UTT & HRUT

3. % US| b1 UL & BRI

4. ¥ HGUI ] a1 7 BIH & HRU




Question Number : 99 Question Id : 7773934415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OTe-hTd § Y| b1 UU8 Hal Ta! oidl UT?
Options :

1. ¢ forarerg

2. % ATy

3. % faermery

4. % “Ulelg

Question Number : 100 Question Id : 7773934416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YIdh el bl URH He Y g3i?
Options :

1. % SaTqdl & § & ITY
2. ¢ Tl & SNfdshR & Iy
3. % fogTerdl o 99 o 91y
4. % UTI b §- o 1Y

Question Id : 7773934411 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

TR B T TaTerd U I IR gIiod |

ifgafd & el H gRIeTad) &l RIF 3fdd Hew@yul § | 5% gRT Uifgcd & Sitd- &1 Y&, I 3R Sifigfe 8kl 8 | Ty Qe &
ZfIET 1 SIAI-SIFTAT 7TaT18 § | 331 & §d UR 9dHM YR DI 307 3fciid 71Rd TR 74 § | TdbTad HRd & ol Bl s a%] el o | [y &
ISHR F TS T AT AR Teh| BT YUE HRd 8 & | UgQ garad, e SR Ju1ad -1 YUe! o T R gid ¥ 39 SHfaie,
fageHI & U= ol geamiad 1t 8id U1 GEurhdl & JHTTHR ¥ Id Jdd] 1 YU BT Sdhd P akg Ivd o1d 7 A | 3f1eiha
YR RUTT & GRapIerd | fTa-T Suii At €, Sa-t 34 (a1 ®Hl-Hfl Th-Tdh Tad &1 Rt J T o et 2t | YRd & Jeadbiad
TR R H (YT T A | UTEHH DTe A G FHICT b FHY e a1 UM g1 <, BRY UHfd Yo R <201 A ge-o s faemgRrt
el IEATY DHRb YR ST B A |

Sub questions




Question Number : 96 Question Id : 7773934412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR T Y Iugad 2 o §) Gehal 82
Options :

1. % GifgIAfd & qre

2. % QIADICY I R

3. ¢ TIHIY 3R HRA

4. ® ABIT DI UG

Question Number : 97 Question Id : 7773934413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AGTAd! & HRUT HRA B 7 7R T 412

Options :

1. % QXIDIAl & HRU YR & 3d dafs g3

2. % TXABI] &b HRUI YR BI JHTOID TR U T |

3. ¢ JIDI! & BRI YR & AMeldd U J IAd 3R I g BT 1R U ]|
4. % AGIAT] &b HRUTHRT B U1 U F Id g 1 1R T T |

Question Number : 98 Question Id : 7773934414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UriH®Te § QRdbTardl R 3 g ol gidl T2
Options :

1. % foIf0 &7 SMfASHR 9 81 o HRUI

2. % IR & SUTT & HRUT

3. % gYIel Pt SUET &b HRUI

4. ¥ GEU D AT G & HRU]

Question Number : 99 Question Id : 7773934415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

OTFTd H QX! &1 UI8 Hal Tal aidl U1
Options :

1. ¢ ferarer

2. % Iy

3. % fqgery

4. % T

Question Number : 100 Question Id : 7773934416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Q&P BT YRY b T g3l

Options :

1. % Carerdl & §9 & 91y

2. ¢ fIfU o 3MfIShR & 1Y

3. % faeITerdl o &7 & T1Y

4. % U & & & 1Y
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Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7773934417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

I have completed /my assignment yesterday/ though I have/ to submit it today.
Options :

1. ¥ I have completed

2. % my assignment yesterday

3. # though I have

4. * to submit it today.

Question Number : 101 Question Id : 7773934417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the segment in the sentence, which contains the grammatical error.

I have completed /my assignment yesterday/ though I have/ to submit it today.
Options :
1. ¥ 1 have completed



2. # my assignment yesterday
3. % though I have
4. # to submit it today.

Question Number : 102 Question Id : 7773934418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate one-word substitute for the given group of words.

A building where monks live
Options :

1. ¥ Museum

2. ¥ Monastery

3. % Mint

4. % Montessori

Question Number : 102 Question Id : 7773934418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the most appropriate one-word substitute for the given group of words.

A building where monks live
Options :

1. # Museum

2. ¥ Monastery

3. % Mint

4. % Montessori

Question Number : 103 Question Id : 7773934419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct indirect speech form of the given sentence.



The Governor said to the councillors, "It is your duty to see that every person living within your jurisdiction receives assistance in this hour of
need."

Options :
1. ¥ The Governor told the councillors that it was their duty to see that every person living within their jurisdiction received assistance in that
hour of need.

2. # The Governor tells the councillors that it is their duty to see that every person living within their jurisdiction receives assistance in that hour
of need.

3. # The Governor scolded the councillors that it is your duty to see that every person living within your jurisdiction received assistance in that
hour of need.

4. ® The Governor told the councillors that it had been their duty to see that every person living within their jurisdiction received assistance in
that hour of need.

Question Number : 103 Question Id : 7773934419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct indirect speech form of the given sentence.

The Governor said to the councillors, "It is your duty to see that every person living within your jurisdiction receives assistance in this hour of
need."

Options :
1. ¥ The Governor told the councillors that it was their duty to see that every person living within their jurisdiction received assistance in that
hour of need.

2. % The Governor tells the councillors that it is their duty to see that every person living within their jurisdiction receives assistance in that hour
of need.

3. # The Governor scolded the councillors that it is your duty to see that every person living within your jurisdiction received assistance in that
hour of need.

4. % The Governor told the councillors that it had been their duty to see that every person living within their jurisdiction received assistance in
that hour of need.

Question Number : 104 Question Id : 7773934420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are four sentences which are jumbled. Pick the option that gives their correct order.

A. This project was delayed for the last two months.



B. Work is finally expected to pick up pace as the lockdown has eased.
C. The National Capital Region Transport Corporation (NCRTC) has started its work on the Delhi-Gurugram-Alwar Rapid Metro.
D. As the name suggests it will connect Delhi with Gurgaon and further with Alwar.

Options :

1. % ADCB
2. % CADB
3. ¥ BACD
4. ¥ CDAB

Question Number : 104 Question Id : 7773934420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Given below are four sentences which are jumbled. Pick the option that gives their correct order.

A. This project was delayed for the last two months.

B. Work is finally expected to pick up pace as the lockdown has eased.

C. The National Capital Region Transport Corporation (NCRTC) has started its work on the Delhi-Gurugram-Alwar Rapid Metro.
D. As the name suggests it will connect Delhi with Gurgaon and further with Alwar.

Options :

1. % ADCB
2. % CADB
3. % BACD
4. ¥ CDAB

Question Number : 105 Question Id : 7773934421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

FABRICATE
Options :

1. ¥ Destroy
2. % Delay
3. % Build



4. # Divulge

Question Number : 105 Question Id : 7773934421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

FABRICATE
Options :

1. ¥ Destroy
2. % Delay
3. % Build
4. % Divulge

Question Number : 106 Question Id : 7773934422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e JL. ) L R | _ [ cos8 sin® _
If;-‘l—[ﬂ 1],8—[_1 0 and C_[—sinﬂ msg,then.

Options :
| # C=Acos8 —Bsing
» # C=Asin@ + Bcos@

3 # C=Asin@ —Bcos@

4« C=Acos@+Bsing

Question Number : 106 Question Id : 7773934422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



izl o= o We= 50, TRl

Options :
| ® C=Acos@ —Bsind

o # C=Asin@+ Bcos?@
3 % C=Asin@—Bcos@

4« C=Acos8+Bsint

Question Number : 107 Question Id : 7773934423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HA=(1 ;

4.3 ) then the value of A% is:

Options :

1. ® (—11 2)

3.¥ (—14 ?)



Question Number : 107 Question Id : 7773934423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gia=(1 Y) @ ateAE @G

—~1: 3
Options :

1 % (—ll g)
,« (o 1)

3. (—14 2)

Question Number : 108 Question Id : 7773934424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
There are 28 people in a group. If all shake hands with one another, then the total number of handshakes that are
possible is:
Options :
1.« 378

» % 870

3 #% 780



4 % 487

Question Number : 108 Question Id : 7773934424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fobfl THg H 28 W17 & | afe G 17T Uoh-g8X 1 BT fHerTd 8, I g1 fAeiH &1 St Gt foail gl

Options :
1.« 378

> # 870
3 #® 780

4 % 487

Question Number : 109 Question Id : 7773934425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
z is a complex number with |z| = v/2,arg(z) = 5 , the value of z is:
Options :
(1E1)
V2

) o (1 +10)

5% (1D



Question Number : 109 Question Id : 7773934425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
z U iRy G ¢ o 2| = V2,arg(z) = %t_‘ﬁzﬁqﬁﬁfiﬂ%r’
Options :
(L41)
V2

, w (+1D)
s x (1—0)

¢d-9)
ax V2

Question Number : 110 Question Id : 7773934426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If z, and z, are non-zero complex numbers such that |z, + z,| = |z,| + |z, |, then Argz, — Argz, is equal to:
Options :

1.¢ 0

2. % —T



3% /2

4. % /2

Question Number : 110 Question Id : 7773934426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qiG z, AR z, . |z, + 2| = |z4| + |2, | DI O B YR S AU €, Tl Argz, — Argz, & TR
gl

Options :
1.v 0

2. % —T

3 0% TT/2

4 % /2

Question Number : 111 Question Id : 7773934427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a straight line is passing through the origin and is parallel to the line y + x = 1, then which equation from the
following is satisfied?

Options :

% X=Y

2 v X=7Y



3 % 7 A e S |

X ==l

Question Number : 111 Question Id : 7773934427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe Ue Hiefl ¥ 7 fag W BIaR oR e 8l SR WMy + x = 1, & JAMIR 81 ol FEfafad # Y S 4

IRl Tgp eidl 82
Options :

L% X=Y

2.0 K="V

3 % ¢ e S |

s e i o |

Question Number : 112 Question Id : 7773934428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The angle between two lines x — 2y =0, y—2x =1 is:
Options :

tan?! (E)
1 ® 4



Question Number : 112 Question Id : 7773934428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁﬁﬁmﬁx— 2y =t y—de=1 %ﬁﬂﬂﬁwwlﬁ’”

Options :

tan” 1(

W |

-1

[Sa RS

| =

)
)
()
)

W | L

i

Question Number : 113 Question Id : 7773934429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The equation of the circle which passes through the centre of the circle x* + y? + 8x+ 10y — 7 = 0 and is concentric
with the circle 2x% +2y?—8x— 12y—9 =0 is:

Options :

L& X +y*—4x+6y—87=0

o x X2 +y*+4x—6y—87=0
;3 % X2 +y*—4x—6y+87=0

g X +y?—4x—6y—87=0

Question Number : 113 Question Id : 7773934429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Gl BT GHIDHRUT JTd HIFSTT G G 12 + y2 + 8x + 10y — 7 = 0 D g Y Bl oRdl & HR I
2x% +2y2—8x— 12y —9 = 0 & U1y Gdhigd e:

Options :

| % XX +y*—4x+6y—87=0

, % X*+y*+4x—6y—87=0
;8 X +y?—4x—6y+87=0

g X +yP—4x—6y—87=0



Question Number : 114 Question Id : 7773934430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 1
If sin A = y7pand sin B = 5. where A and B are positive acute angles, then what is 0.5(A + B)?

Options :
i

| w4

T
2.« 8

RS A

N
®
oA

Question Number : 114 Question Id : 7773934430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e sinA= 7 MR sinB = = T, Tl W A 3R B G LFIES T B8, W 0.5 (A + B) a1 32

Options :



M=

N
#
ol =

Question Number : 115 Question Id : 7773934431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 2T 41 T .
The value of cos — cos — cos — cos — 1s:
15 15 15 15
Options :
1

Lv 16

1

o

Question Number : 115 Question Id : 7773934431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



c0s = cos ZE cos 2 cos 22 T A J1d HIfoTT|
15 15 15 15

Options :
1
1.v 16

1

N

Question Number : 116 Question Id : 7773934432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Acid-Base Concepts is based on the presence of water?
Options :

1. ¥ Arrhenius Concept

2. # Lowry and Bronsted Concept

3. % Lewis Concept

4. # Usanovich's Concept

Question Number : 116 Question Id : 7773934432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol 7 @ o T 3d-&R SR od P Jufufa tR smerid g2

Options :



1. ¢ 3T T S(aLURUN

2. % TARY SIR FES YR
3. % 9 SAYRUT

4. % I D YR

Question Number : 117 Question Id : 7773934433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The octane number of petrol is a measure of its:
Options :

1. # ignition delay

2. ¥ knocking tendency

3. # number of carbon in chain

4. ® market price

Question Number : 117 Question Id : 7773934433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UCTd B JHiae ST D HIATRI
Options :

1. % goga fadds

2. ¥ 3UTDIc Ughd

3. % gRaall # dlad $f S

4. % dIVIR O

Question Number : 118 Question Id : 7773934434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an Intensive property?
Options :

1. # Viscosity



2. * Surface tension
3. % Specific Heat
4. ¥ Volume

Question Number : 118 Question Id : 7773934434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el & 3 @ a1 e Tured 2 82
Options :

1. * Gl

2. % Yy ddg

3. % fafry Sum

4. % 3d-

Question Number : 119 Question Id : 7773934435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a Monomer of Cellulose?
Options :

1. # Lactose

2. ¥ Glucose

3. % Mannose

4. % Galactose

Question Number : 119 Question Id : 7773934435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafiied & 9 ®F Sogas &1 Thad §?
Options :

1. % e

2. ¢ DI




3. % T
4. % Qg

Question Number : 120 Question Id : 7773934436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Graft copolymers:

Options :

1. # each monomer is alternated with the other like ABABABABAB....

2. ¥ more complex repeating structures are possible like AAABBBAAABBBAAA...

3. % itis a branched copolymer with side chain(s) of one homopolymer attached to the linear backbone (main chain) of another homopolymer.

4. ® two monomers are randomly ordered

Question Number : 120 Question Id : 7773934436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AfTTeaga®! & Gae H B T HYF ol 87

Options :

1. % J® Uhad 30 & UIY ABABABABAB.... & UTHIR pH A 811 8

2. % AAABBBAAABBBAAA... S G-RTGfcId IREHE THT 161 §

3. ¢ g YR Yeagad & oW JHIgA® ! UTRd YT (s) GIR JHIGAD DI L1 ShaH (- 47l IV ot gl g |

4. % QY UHAD! JTefa5d HiHD gid &
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7773934437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gun cotton is:

Options :

1. ¥ nitrocellulose

2. # a mixture of HNO3 and starch

3. % dynamite
4. % TNT

Question Number : 121 Question Id : 7773934437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Bl R 82



Options :

1. R RITET
2. % HNO; 3R Trd &I fhgo

3. ® SIYAMILC
4. % TNT

Question Number : 122 Question Id : 7773934438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
pH of buffer mixtures are calculated by the:
Options :

1. ¥ Handerson-Hasselbalch equation

2. # Arrhenius equation

3. # Vander Waals equation

4. ® Vant Hoff equation

Question Number : 122 Question Id : 7773934438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR U0 & pH A &1 TUMAT FREfoiRad 8 3 fordes gR1 &1 off bl 82
Options :

1. ¢ BSTA-gIAdcd THIDRU]

2. % BTG gHH0

3. % gie T GHIHRU]

4. % GiCgIh JHIDHRU]

Question Number : 123 Question Id : 7773934439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT an example of hard water?
Options :



1. ¥ Water containing CaCOj3

2. % Water containing MgCO5

3. ¥ Water containing CaCl,

4. ¥ Water containing Dilute HCI

Question Number : 123 Question Id : 7773934439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeed & Q ®IF $3R od BT IS0 Tl 82

Options :

1. ®# CaCO5 gad ofcT
2. % MgCO3 gad ol
3. ¥ CaCl, dd qic]
4. % d] HCl1 ad SId

Question Number : 124 Question Id : 7773934440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount of NaOH required if we prepare a 250 ml solution of N/40 NaOH, is:
Options :

1. % 0.15 gm

2.9 0.25 gm

3. % 0.35gm

4. % 045 gm

Question Number : 124 Question Id : 7773934440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N/40 NaOH T 250 ml faa0 IR B3 & folU NaOH P Ta=RRID AT fhd-t gt
Options :




1. % 0.15 gm
2.¥ 025 gm
3. % 0.35gm
4. % 0.45 gm

Question Number : 125 Question Id : 7773934441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a property of Polyethylene terephthalate (PETP)?
Options :

1. ® It allows reprocessing

2. % It solidifies when cooled

3. # Heating and cooling can be repeated with it

4. ¥ It can be used at high temperatures of up to 80°C

Question Number : 125 Question Id : 7773934441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & § o O uiasRids SXudde (PETP) $t faRivdr 981 82
Options :

1. % BT JIHGHU] g1 Tohdl §

2. % BB IR UG oH SITdl §

3. % 3P A 3R Y TR-ER 8 gHhdl &

4. % 80°C TP P I YA WR FTHT IUUNT fordm ST Yhell &

Question Number : 126 Question Id : 7773934442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a pointing device of a computer?
Options :

1. ¥ Mouse



2. # Keyboard
3. ® Wii Remote
4. ¥ Gamepad

Question Number : 126 Question Id : 7773934442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad & O o1t bR 3 Ui feaga 79
Options :

1. ¥ HI3YH

2. % PEIS

3. % wii e

4. % TOUS

Question Number : 127 Question Id : 7773934443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Microprocessor based computer systems were developed in the generation of computers.
Options :

1. # first

2. % second

3. % third

4. ¥ fourth

Question Number : 127 Question Id : 7773934443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt & Hugex] o AR SMUTd Hugex wuner (Re) fasfad &t 8 ot
Options :
1. % Jyy

2. % fgdig




3. % gd
4. Iqd

Question Number : 128 Question Id : 7773934444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the very first screen/component that you will see once Windows is loaded?
Options :

1. # Control Panel

2. ¥ Desktop

3. # Calendar

4. # Calculator

Question Number : 128 Question Id : 7773934444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & & 98 SH-91 e gl ¥hiH/aes ¢ ot 3Td fISie a1 819 & a1e 3@
Options :

1. % dad UAd

2. ¥ SWHC

3. % hoiex

4. % HAPAR

Question Number : 129 Question Id : 7773934445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When you delete an item from any of the drives by making use of the ‘Delete’ key or even by simply right-clicking and selecting the ‘Delete’
option, the file is moved to the in Windows OS.

Options :

1. # Control Panel
2. # Start menu
3. ¥ Recycle Bin



4. % Taskbar

Question Number : 129 Question Id : 7773934445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OF 3T TSefie o1 BT ST B AT fhR Had Age-fads Hd 3R feefie fabeu &1 Tu Hb ford wiga/3mged &l gerd @ ol 98
BIsd faSS Uare gommelt (3TaRfe Ren) & A Tl S g

Options :

1. ® Had od

Question Number : 130 Question Id : 7773934446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following page break options in Microsoft Word 2019 separates text around objects on a webpage such as caption text from body
text?

Options :

1. % Column

2. % Text Wrapping
3. # Continuous

4. % Even Page

Question Number : 130 Question Id : 7773934446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Microsoft Word 2019 H FHEffad & ¥ ®1H-91 U 5 faded 9906 R SHissided & SATIUR & CaRE B 31 BT g oY [ Siel cae I
PR TRC?

Options :

1. % PlaH

2. ¥ THE AT




3. % P3N
4. % 3909

Question Number : 131 Question Id : 7773934447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In paragraph formatting, Ctrl + Q is used for which of the following purposes?
Options :

1. ¥ To remove paragraph indentation

2. ¥ To remove paragraph formatting

3. % To open Apply Style task pane

4. ® To change the paragraph spacing to double line

Question Number : 131 Question Id : 7773934447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed & 3 ford S5 & o1 IRE BT & Ctrl + Q &1 YART 5T 9Tl 82
Options :

1. % IRTUTH ST 8CH & oy

2. ¢ RENMP BIHAT g & o

3. % 3T WISd TP U WieH & g

4. % RITW WRAT (RfT) B S99 s | ggaq & fau

Question Number : 132 Question Id : 7773934448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following guided data transmission media uses the concept of reflection of light through a core made up of glass or plastic?
Options :

1. ¥ Optical fibre cable

2. % Shielded twisted pair cable

3. # Coaxial cable



4. ® Unshielded twisted pair cable

Question Number : 132 Question Id : 7773934448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁﬁwﬁﬁa%mmmmmﬁaﬁm@QWW%WﬁWMWWW
.

Options :

1. ¢ UBTRID B3R had (3HPH BIIaR Had)

2. % ORRferd amafdd gm dad ([Mess g UsR daa

3. % gHIely Had (HIefRId Had)

4. % IURRTET m@fid gH Had (MRS gk s UsR Had)

Question Number : 133 Question Id : 7773934449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a mini-DIN connector used to connect keyboards, mice to a PC compatible computer?
Options :

1. ®¥ VGA port

2. % PS/2 port

3. #¥ RS232 port

4. ® Ethernet port

Question Number : 133 Question Id : 7773934449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAAfRad & ¥ &1 U mini-DIN HdeR & ORI®T SUT HiaIgy, HISH B PC Td Hex I Siie- o forg fowar Sirar g2
Options :

1. % VGA T

2. ¥ PS2UIC

3. % RS2327TIC



4. % SPWAT U

Question Number : 134 Question Id : 7773934450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In general, Network Gateway works at which layer of the OSI model?
Options :

1. # Physical layer

2. # Data link layer

3. ¥ Network layer

4. # Session layer

Question Number : 134 Question Id : 7773934450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIE:, OSI ATSd Bt {h¥ TR IR Aedd ed B Hdl 62
Options :

1. % ifes IRd

2. % ST fofb WRd

3. ¢ Jcadh WRd

4, % A URd

Question Number : 135 Question Id : 7773934451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the standard markup language for creating webpages?
Options :

1. ¥ FORTRAN

2.% C

3. HTML

4. % COBOL



Question Number : 135 Question Id : 7773934451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

90 §TH & fore Fafifed & 9 1 T | A 3T HINT 82
Options :

1. # FORTRAN

2. % C

3. ¥ HTML

4. % COBOL

Question Number : 136 Question Id : 7773934452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
11t (103cc) water at 4°C has of
Options :

1. ¥ mass; | kg
2. % length; Im
3. #* time; 1s

4. # temperature; 1°k

Question Number : 136 Question Id : 7773934452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4°C WR 11t (103cc) ST B/t : gavgal gl
Options :

1. ¥ QUHI; 1kg

2. % FWI_SC; Im

3. ® JHY; Is

4. % dI9HME; 1°k




Question Number : 137 Question Id : 7773934453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the SI unit of work, energy and heat?
Options :

1. ¥ Radian

2. % Parsec

3. % Second

4. ¥ Joule

Question Number : 137 Question Id : 7773934453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT, Froll 3R ST T TH.3MTS. (SI) A FyfeiRad # ¥ o1 82
Options :

1. % AST

2. % URYD

3. % Ybhs

4. ¥ 9d

Question Number : 138 Question Id : 7773934454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has NOT been expressed in its proper unit?
Options :

1. % Angular velocity - rad/s

2. # Surface tension - N/m

3. % Electric potential - V

4. ¥ K E and PE - kg x m/s

Question Number : 138 Question Id : 7773934454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 e 39 Te! A & A1y JAfrd gt fovar a1 /2
Options :

1. % PO AT - rad/s

2. ® R d-Id - N/m

3. % faggafava-v

4. ¢ TIfast Soif (K.E.) 3R fRufast 91t (PE.)- ke x m/s

Question Number : 139 Question Id : 7773934455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following systems of units has the advantages of being ‘a rational and coherent system of units‘?
Options :

1. # CGS system

2. % MKS system

3. % FPS system

4. ¥ Sl system

Question Number : 139 Question Id : 7773934455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

! Bt FofRed & @ fg yone & Aee! & adhatd ok Wy’ w0 & suad farar o ahdT 82
Options :

1. % ST, (CGS) et

2. % TH.®.TY. (MKS) JUITci!

3. % UK. UL.TY. (FPS) WOIQl

4. ¢ T3S, (SI) YuTTe!

Question Number : 140 Question Id : 7773934456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following quantities has the dimensional formula [ML 31972
Options :

1. * Volume

2. % Force

3. % Density

4. % Power

Question Number : 140 Question Id : 7773934456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o 9 fora R &1 farfa g (ML 3107 72

Options :
1. = AHgd4
2. % dd
3. ¥ Ydd
4. % Qe
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Question Number : 141 Question Id : 7773934457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has the derived quantities is:
Options :

1. # Electric current

2. ¥ Area

3. % Amount of substance

4. # Luminous intensity

Question Number : 141 Question Id : 7773934457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & 9 ®F t6h ogad AR 52
Options :

1. % fdggd 4RI

2. ¥ &

3. % gard &1 HE

4. % SIfd fferan




Question Number : 142 Question Id : 7773934458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following systems of units consists of seven base units?
Options :

1. # CGS system

2. % FPS system

3. % MKS system

4. ¥ SI units

Question Number : 142 Question Id : 7773934458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforiea & I fora vomelt & 0 Al o1 Te I1d 82
Options :

1. % IS.TY. (CGS) Uurat

2. % U U1.TY. (FPS) YUt

3. % TH.®.TY. (MKS) ura!

4. ¥ TY.3MTs. (SI) YUTTeit

Question Number : 143 Question Id : 7773934459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ‘Chandrasekhar limit’ is equal to 1.4 times the mass of

Options :
1. ¥ Earth
2. ® Jupiter
3. % Saturn
4. ¥ the Sun

Question Number : 143 Question Id : 7773934459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TGERRGR AT & GHAM & 1.4 P RER B 8

Options :

|. % et

Question Number : 144 Question Id : 7773934460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Light year’ is a unit of

Options :

1. # mass

2. ¥ length

3. % time

4. # gpeed of light

Question Number : 144 Question Id : 7773934460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
THTR T BT IS |
Options :

1. % gogHH

2. ¢ WaTS

3. % JHY

4. % YebT 1 1Tt

Question Number : 145 Question Id : 7773934461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Units that are totally independent and cannot be derived from other units are called:
Options :

1. # supplementary units

2. % derived units

3. # solid angle units

4. ¥ fundamental units

Question Number : 145 Question Id : 7773934461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d U o1l JUid: Wa 81d & 3R [l o AE®! ¥ dd -6 81 &, HEad gl
Options :

1. # RPh HHAD

2. & U HAD

3. % 31 BV OH®

4. ¥ Hd HIAD

Question Number : 146 Question Id : 7773934462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option Which is represented by the below given structure.

mHzc—i\/rr:HaT” ICHz‘@’CHa—"—-

CH:z

~H.C- \) CHz—szjr\,LCHg—(’j CHz —

Optlons :

1. ¥ Melamine
2. % Novolac
3. # Teflon



4. ¥ Bakelite

Question Number : 146 Question Id : 7773934462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFHifera =T & fore Ifd fasea &1 a3 &3 |

OH O Ll:l OH
“HzC—'""j—CHa #—CH: CHz -
CH: CH; CH;

wH2C ‘Q;) CHz—i, CHz—QJ CHz—

OH OH OH
Options :

1. % AATHTSA
2. % i
3. % T

4. ¢ 9HdARC

Question Number : 147 Question Id : 7773934463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A natural resin Shellac is generally obtained from secretion of female
Options :

1. * bombyx mori

2. # silk moth

3. ¥ musca domestica

4. ¥ lac bug

Question Number : 147 Question Id : 7773934463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TS WH b I Add SMHAR W HGT & H1G Y U g g |
Options :

1. % TR Pic (ST HIRY)

2. % W aH (Rie 1Y)

3. % Y AR (b1 SHREHT)

4. ¢ TR B (AP &)

Question Number : 148 Question Id : 7773934464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The typical fibre content of a polymer composite may range from
Options :

1. % 10% to 20%

2. % 80% to 90%

3. % 20% to 30%

4. ¥ 20% to 80%

Question Number : 148 Question Id : 7773934464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Sgad Ay DI [ART BrReR Il & wH % B gl g
Options :

1. % 10% 9 20%

2. % 80% T 90%

3. % 20% 9 30%

4. ¥ 20% I 80%

Question Number : 149 Question Id : 7773934465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The effects of chain branching and crosslinking on glass-transition temperatures can be explained in terms of .



Options :

1. # concentrations

2. # temperature change
3. # molecular strength

4. % free volume

Question Number : 149 Question Id : 7773934465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- HHHUT ATIH! TR Y7l AT (T FfiT) 3R Sy W™ (BIAfcifhT) S YU &l & S H JHgimdr off gl g
Options :

1. % Yigdr

2. % A gRkad=

3. % MU fdd

4. ¢ o 3R

Question Number : 150 Question Id : 7773934466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The actual reduction in polymer per unit weight of plasticizer is known as:
Options :

1. # plasticization

2. ¥ plasticizer efficiency

3. * unplasticized polymer

4. % reduction constant

Question Number : 150 Question Id : 7773934466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JUCTHR] (WIRCHTZOR) & Ufd ShT5 HR H Iga® (UIHR) P aRdidd HHT PI HEI ST g |

Options :




1. % gISIHI
2.  JACIBR G&fdl

3. % YUCIB IgaD

4. % GHAIDHR RRISH

Question Number : 151 Question Id : 7773934467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Resilience is technically evaluated by:

Options :

1. # Rockwell hardness testing method

2. # noting the volume abraded in a given time
3. # Izod and charpy instruments

4. ¥ allowing a metal ball to fall on the flat test surface and noting the rebound

Question Number : 151 Question Id : 7773934467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gard e (RIII) &1 ae-ie! U J Yedid- fPar ST gl
Options :

1. % JHdd HARAT W10 fAf gRT

2. % T Fd 99T § 5 §8 AE1 &I & H 79 R

3. % 3MIWTS 3R IUT T gRT

4. T YT B! Tig DI YUTC W& Tdg W TR FHR 3R Ufday &1 & § Td dx

Question Number : 152 Question Id : 7773934468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The electrical property parameter of a plastic that represents the amount of electrical energy absorbed by an insulator subjected to an alternating
current field is known as the:

Options :

1. ¥ dielectric constant



2. ® electrical breakdown
3. ¥ power factor

4. ® resistivity
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Question Number : 153 Question Id : 7773934469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In case of plastics, by monitoring the carbon dioxide evolution test which property is tested?
Options :

1. ¥ Bio-degradability

2. % Chemical property

3. ¥ Flammability

4. % Optical property
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Question Number : 154 Question Id : 7773934470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

In Compression moulding and transfer moulding the preheating is generally carried out at
Options :

1. % 10°C to 45°C

2. % 46°C to 65°C

3. ¥ 66°C to 149°C

4. % 120°C to 212°C
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1. % 10°C ¥ 45°C

2. % 46°C ¥ 65°C

3. ¥ 66°C ¥ 149°C

4. % 120°C ¥ 212°C
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Correct Marks : 1 Wrong Marks : 0.25

Breathing or bumping is carried out in compression moulding:
Options :

1. * to supply necessary amount of oxygen to polymeric material

2. % to insure proper oxidation of the polymeric material



3. # to avoid surface blemishes

4. ® to stop gases from escaping
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Moulded thermosets are frequently post cured by to enhance mechanical properties.
Options :

1. # sudden cooling

2. ¥ baking

3. # passing through water channels

4. ® applying very high pressure
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Which of the following statements describes the disadvantage of compression moulding ?
Options :

1. #® Large number of production is possible using multiple cavity moulds.

2. ® The wastage of material is less when compared to transfer moulding.

3. ¥ In compression moulding, the resin is not always fully melted.

4. ¥ Multi-cavity mould does not need any sprue or runner.
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